

Multiply by 10^{-3} (F)

Find each product.

$25 \times 10^{-3} =$

$81 \times 10^{-3} =$

$51 \times 10^{-3} =$

$78 \times 10^{-3} =$

$7 \times 10^{-3} =$

$96 \times 10^{-3} =$

$80 \times 10^{-3} =$

$69 \times 10^{-3} =$

$76 \times 10^{-3} =$

$1 \times 10^{-3} =$

$27 \times 10^{-3} =$

$99 \times 10^{-3} =$

$2 \times 10^{-3} =$

$6 \times 10^{-3} =$

$39 \times 10^{-3} =$

$74 \times 10^{-3} =$

$53 \times 10^{-3} =$

$80 \times 10^{-3} =$

$41 \times 10^{-3} =$

$3 \times 10^{-3} =$